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BEARRE AT = 1 719, 780 | &K (FLiR) X+ 2,900 m3
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+4)
HEL 1 2V
HmEEE 1 =X
T wb AT 1 X
0 CaBl- EHIRY £5Te) ;
e 1 =
B2 A couE
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PRI EET A2y (20) 4f2EE 50mm 3. Omtd ;
F=n—=UAL 2 30,800 |FJ= (HiE - BIFE) 20 m2
PRI T A2y (13) 4fi25E 40mm 3. Omtd ;
TAT 7V MR AEE T = 287,610 |~ vF/)° 3 t
HABRLET A (13)
Z=lN = 23, 600
fxa T = 23,600 |7Ap-7" 20 m
FAMRLEET 22 (13)  155em2Lh_175em2A0 ;
Bh AT L 2 181, 252
B LA T 2 181,252 | JEffE7 ny), WA LR 6 &
B L R
A58 - SRE (ST NBS IR 10 m
&1, bm —fRA
EINZRIR 10 m
BRRIPAZEN(7" M
X R T 6,918
ESETE 6,918 | VAR =X HHE 20 m
R TE) 958 B 15em JE 1. 5mm Pk MEEHLE
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B 5 r5e
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IEALBREE T 2 1 362, 160 | KRR IEER 20 =]
EErEEE 20 IRF
TEHEE T (— %) 20 IRF
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TN [ bR ] 10 iR
FEHER HEXKEL 5L ;
VANVVAN VRV R S A S A B L 10 HRE ]
PAW Y
N yJy (Ju-70) 10 B
[LIFE0. 28m3 (CF-AH0. 2m3)
MMy (b4 an’ v) e 10 FE ]
[LIf&0. 5m3 ;
+o 5 10 B
62X 48cm L FHFAHELS ;
FIREH 10 4%
45 (30kg)
IEALBREE T 2 1 320, 330 |HRERIEEER 20 =]
EErEEE 20 153
TEEE T (— %) 20 IRF
TN [ bR ] 10 FF ]
FHE B PEXEL 5L ;
VAVVAN VEVAV R S A e A B L 10 HRE ]
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e LT IS 1 153,355 |27~ EgE L 5 m3
MRS BbkE T
2y - Mg B L 5 m3
ERApIEEY) FAE T ;
ERZE R LD 1 2V
TAT 7 MEEERR 15emPL T
EhAE AR AR 100 m2
TA77 VMRS BEERE e m
TR AL T = 1 102, 975 | BGEHE 5 m3
av ) -bik (BER5)
DO 5 m3
/) -hik Bk
DO 5 m3
TAT 7V
By 5 m3
av ) -bik (BER5)
By 5 m3
/) -hik Bk
By 5 m3
TAT 7V
% T = 1 228, 096
THEHER T = 1 11,776 | FewbF) 20 m2
U BLFREE ) A150-0 BUE 200mm ;
gt = 1 20, 460 | MEmERE + 20 m
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EFB () LSRR E O IEME
AR IEE BT X 1 151, 200 | A2 (K B 1 X
RN X =X 1 41, 257, 539
B S %54 =X 1 4,835, 100
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